Math 127 Test1 Name: _

Show all necessary steps Clearly, Neatly, and Systematically to recelve full credit. Any Incorréct statement will be peﬁallzed.
1. Solve: 7[2—(3 +4x)]—2x=-9+2(1-15x).
4[2*3"‘&*]-2’( =-§42-30x
F-1=-4x]-2x = 3 -30x
~3 -28x - 2x
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3. Solve: %(x - 2)—-%(# - 8) > —% . Write the solution set in interval notation and graph.
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4. Solve: 1314 ~15x-16 >10.. Write the solution set in interval notation.
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re. Solve:«'-’%»—& 3% +2> -7, Wiite the solution set i Intérvai notation and set:biider ntafion.
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8. Simpllfy 03u 1 l[3v (v 1 lu)]+2v
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10. Solve:

(‘rxH) (""5)/7‘*5
.,s;gxm,—«xm =x+5

;»x-PS -'X*S

5x+5 -

s =0

‘iﬁ




11, Solve -
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12. To start training for a triathlon, an athlete runs 8 t|mes longer than she swims, and cycles 45 miles longer

than she runs. If she covers a overall distance of 70.5 miles, find the length of each part of her workout.
(Make sure to show in 3 steps format)
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